




ADJECTIVE

EXERCISE



(a) A non banking financial company is a / (b) financial 

institution similarly to a bank / (c) but it cannot issue cheque 

books to customers. / (d) No error



(a) Everyone agrees that / (b) the Ganga is the holiest / 

(c) of all other rivers of India. / (d) No error.



(a) Krishna ran to the / (b) nearing grocery store to / 

(c) buy biscuits as his parents were expecting guests. / 

(d) No error



(a) While giving a loan/ (b) you must check / (c) if the 

borrower has sufficiently collateral to repay it. / (d) No 

error



(a) Although his speech / (b) was not very clearly 

everyone understood / (c) the underlying meaning. / 

(d) No error



(a) He is the most / (b) intelligent and also / (c) the 

very talented student of the college. / (d) No error



(a) Having been found / (b) guilty of the theft / (c) 

Sunny was sentenced to five year’s imprisonment. / 

(d) No error



(a) Lasers are / (b) indispensable tools / (c) for the delicate 

eyes surgery. / (d) No error



(a) The number of applications has risen / (b) this year 

by / (c) as many as 50%. / (d) No error



(a) Two lakh of people / (b) attended the meeting / (c) 

held in parade ground. / (d) No error



(a) These sort of men / (b) attain success by hook or by 

crook / (c) so they do not deserve any applause. (d) No 

error



(a) Whole the chapter / (b) is full of printing errors 

which are the outcome / (c) of the proof reader’s 

carelessness. (d) No error



(a) This book is / (b) undoubtedly preferable than / 

(c) that and its printing / (d) is also comparatively 

good. (e) No error



(a) Everybody knows / (b) that Radha is the most 

unique / (c) singer of this college / (d) No error



(a) This photograph / (b) was comparatively better / (c) 

than that which he had kept in his purse. / (d) No error



(a) My all / (b) friends will come / (c) tomorrow to 

meet me / (d) no error



(a) I am sure that / (b) all my monthly expenses / (c) 

would exceed the income if I do not economise. / (d) 

No error



(a) The circulation of The Statesman/ (b) is greater 

than/ (c) that of any newspaper/ (d) No error
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